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General English

35. Fillin the blanks with the correct article :

36.

37.

38.

39.

2

Neil Armstrong was first man to

walk on moon.

(A) the, the (B) an,a

(C) a,the (D) an, the

Fill in the blanks with the correct article :
Yesterday I saw__ European riding
on elephant.

(A) a,a (B) the, the

(C) a,an (D) a,the

Find out the incorrect sentence :

(A) Is this my pen, or is it yours ?

(B) We gotup at dawn and had breakfast
at eight o’ clock

(C) We have aholiday on Christmas

(D) Come back in an hour’s time

A sentence has been given with a blank to

be filled with an appropriate word.
Choose the correct alternative.

She..ovveenene her portrait in the main hall.
(A) hanged (B) hung
(C) hadhunged (D) hang
A sentence has been given with a blank to

be filled with an appropriate word.
Choose the correct alternative.

The boy ............. the ball out of the room.
(A) kick (B) kicked
(C) kicking (D) is kicked
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Direction (Q. No. 40 to 41)

Fill in the blanks w.ith a modal choosing from
: may, might, should, must, can, could, To be
+ infinitive & would, used to, be used to,
Need not Dare.

Select the most appropriate option to fill in
the blank.

40.

41.

One lakh cusecs of water was released
the Ropar Barrage the

Sutlej river on Monday evening.

(A) with;at (B) of ;in

(C) from;into (D) in; of

The hotel is right the road,

opposite to the court.

(Choose the correct preposition)

(A) on (B) about

(C) across (D) inside
Direction (Q. No. 42 to 44)

In each of the following questions, choose
the correct alternative.

42.

43.

44.

You will not be allowed to enter
.............. you have an entry pass.

(A) if (B) unless

(C) when (D) but

Add the right suffix to pluralize the word
‘OX’.

(A) -ies (B) -s

(C) -en (D) -es

Change the word ‘grow’ into a noun by
adding one of the suffixes given below.
(A) -s (B) -n

(C) -ing (D) -th

Direction (Q. No. 45 )

Choose the appropriate articles for the given

sentence :

45. There is truth in what he says.
(A) many (B) some
(C) more (D) any

46. Find the part of the given sentence that

47.

has an error in it. If there is no error,
choose ‘No error.”

The country (A)/expect us to (B)/do our
duty (C)/No error (D)

(A) expectusto  (B) no error

(C) doourduty (D) thecountry

Point out the sentence which is in past

perfect tense.

(A) We were listening to the radio all
evening

(B) It was getting darker

(C) He studied many hours everyday

(D) I had written my letter before he
arrived

. Point out the sentence which is in present

perfect tense.

(A) Your sister visited us yesterday.
(B) I shall go to Jaunpur tomorrow.
(C) Sheis very intelligent.

(D) I'have finished my work.

Direction (Q. No. 1 to 5)

Choose the correct answer from the four
alternatives given below each sentence.

49.

50.

Which of'this is not a punctuation mark?
(A) Full stop (B) Comma

(C) Colon (D) Hashtag

The full stop is used at the end of an
indirect question.

(A) True (B) False

(C) BothA& B (D) None

Direction (Q. No. 1 to 20)

Improve the bold part of sentences, ifneeded :
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Your sister cooks well, isn't she ?
(A) isn'tit?
(B) doesn't she ?
(C) doesn'tit?
(D) No improvement
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